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From the following table it will be seen that if the exports of 1897, 
$123,960,000, are estimated at the. export prices of 1883 they would 
amount to $154,004,000, or $30,044,000 more than they actually were. 
Adding this amount to the actual difference, $36,258,000, it will give a 
total increase of $66,302,000 over exports of 1883 :— 

STATEMENT SHOWING THE VCTUAL EXCESS OR DEFICIENCY OF 1882-97 
EXPORTS OVER OR BELOW 1883, AND THE ADDITIONAL SUMS WHICH 
WOULD H W E ACCRUED HAD THEY BEEN VALUED AT THE PRICES 
OF 1883, TOGETHER WITH THE NET INCREASE OR DECREASE. 
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